
67
.5

67
.5

60
80

67.5 67.5

60 80

165

16
5

51

R4.5

20

22
.5

20

22.5

10
0

1510
2

11
9

14
4

20

96 

M12

27.5

64

\�5

\)0

5.61
Modular
Assembly Technology

®

Foot and Castor Components

Material and Color: steel silver

 

Description Fastening Set
Load

 (N)

Mass

 (g)

Part No.

Light Weight

1050 3900 5.61.L

4xJ 1050 3950 5.61.40.L.STA

3xJ+1xAF 1050 3950 5.61.40.L.STB

4xW 1050 3950 5.61.45.L.STA

3xW+1xAG 1050 3950 5.61.45.L.STB

Heavy Weight

6000 4600 5.61.H

4xJ 6000 4650 5.61.40.H.STA

3xJ+1xAF 6000 4650 5.61.40.H.STB

4xW 6000 4650 5.61.45.H.STA

3xW+1xAG 6000 4650 5.61.45.H.STB

Floor Elements

.01

Wheel-polyurethane  Foot-steel, black electrophoresis

Wheel-PA  Foot-zinc plated steel

67
.5

 
67

.5
 

60
80

67.5 67.5 

60 80

165

16
5

32
R4.5

20

22
.5

 

20

22.5

10
0

1510
2

12
2

14
4

\'0

20

96

\�5
M12

35.5 

64

M8x25 Bolt

zinc plated 

M8 Washer

zinc plated 

M8 Spring Washer

zinc plated 

AF

M14�M8 
Hole Reducer Bolt
nickel plated

Fastening Set

M8x30 Bolt

zinc plated 

M8 Washer

zinc plated 

M8 Spring Washer

zinc plated 

AG

M14�M8 
Hole Reducer Bolt
nickel plated

Fastening Set

M8x30 Bolt

zinc plated

M8 Washer

zinc plated

M8 T Nut

nickel plated

Fastening Set W

M8 Spring Washer

zinc plated

A B

Modular Assembly System Modular Conveyor System Stair and Platform System Machine Guard System www.moduasm.com
All Rights Reserved

Tubular Framing System

M8x25 Bolt

zinc plated 

M8 Washer

zinc plated 

M8 T Nut

nickel plated 

Fastening Set J

M8 Spring Washer

zinc plated 


